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AR IPFIEERITESL, AREHEEEA/N\TRAVZMER. JavarhXNAYEESSCINAN: ArrayList

2. $5IE

o —Ht: HARBERFHEREIERE TR, TRIVEIERRE TR HIERRIEIESSEL.
o HiFt: HATRITREEFN, B M.

o AE[ZEME: HA—BWRE, UKE (BAFTENITE) FU%.

3. 3thr

<UEAMER S5 ArrayList SRiffEEZE >
o NINTTRIRIE ST

// ArrayList BJadd5i%
public boolean add(E e) {
ensureCapacitylnternal(size + 1); // Increments modCount!!
elementData[size++] = €;
return true;
}
private void ensureCapacitylnternal(int minCapacity) {
ensureExplicitCapacity(calculateCapacity(elementData, minCapacity));
}
/] it EBE
private static int calculateCapacity(Object[] elementData, int minCapacity) {
if (elementData == DEFAULTCAPACITY_EMPTY_ELEMENTDATA) {
return Math.max(DEFAULT CAPACITY, minCapacity); // HE&HZE, WHEaddEHnE
EAEIIATE
}
return minCapacity;
}
private void ensureExplicitCapacity(int minCapacity) {
modCount++; // modCountEERKICREGHIENAVREL, FHEEMBSEIRIENA
// overflow-conscious code
if (minCapacity - elementData.length > 0) // ¥ 2BBET &
grow(minCapacity);

}
// §"BHE minCapacity: ZVEBNSE
private void grow(int minCapacity) {
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// overflow-conscious code
int oldCapacity = elementData.length; // [REEKE
/] TS, T RAEFRSE, BBATARERE .50, EACHEMEREER
int newCapacity = oldCapacity + (oldCapacity >> 1);
if (newCapacity - minCapacity < 0)  // —X¥ &fa, B SENSEE51%EA
newCapacity = minCapacity; /] ERRAER, WSEEEHN FTEHEENS/NSE m
ncapacity
if (newCapacity - MAX_ARRAY SIZE > 0) // & BENSEBITRAE, WHESAESE
newCapacity = hugeCapacity(minCapacity);
// minCapacity is usually close to size, so this is a win:
EES
elementData = Arrays.copyOf(elementData, newCapacity);
}
S
public static <T> T[] copyOf(T[] original, int newLength) {
return (T[]) copyOf(original, newLength, original.getClass());
}
// BAArrayList SEEGREMHEE, MU TERERFZEN, SR8 BNEEREFTHE, B=
HOOMBRE, BMERNFEH%
public static <T,U> T[] copyOf(U[] original, int newLength, Class<? extends T[]> newType) {
@SuppressWarnings("unchecked")
T[] copy = ((Object)newType == (Object)Object[].class)
? (T[]) new Object[newLength]
: (T[]) Array.newlInstance(newType.getComponentType(), newLength); // EBIERE=SIE],
REEENNGEZE, NEHOOM
/] BIFERRE NWRIFRYZSE)
System.arraycopy(original, 0, copy, 0,
Math.min(original.length, newLength));
return copy;

}

// BRIEFTHIEE

public static native void arraycopy(Object src, int srcPos,
Object dest, int destPos,
int length);

SIFTRES: FIITREEECENSA, BHEEEENEFHRIEES
o MipRTTRIRIS DT

public E remove(int index) { // Bi&IEBESNTTE, MEBRBE o=, Blindex=1, size=5
rangeCheck(index); //1@BRS|IEZEHR
modCount++;
E oldValue = elementData(index);
int numMoved = size - index - 1; // numMoved=3
if (humMoved > 0) // #ENEFHEABH
System.arraycopy(elementData, index+1, elementData, index,
numMoved);
elementData[--size] = null; // clear to let GC do its work 1L GCRRIKLZER D EIR
return oldValue;
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